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3.3 Trig Derivatives (continued)
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Side note: You can now use sin(5x)
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3.4 Chain Rule | Chain Rule:

The composition of two function is
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Here is a brief “proof sketch” for the
chain rule:

From the definition of derivative
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Examples: Find the derivative
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3. y = tan(3x + COS(4'x))
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Identify the “first” rule you would use to
differentiate these functions:

. : m ’_,\_( ’ "*S'L(cm( S F2x)
(sum, product, quotient or chain?) g =z \skox T
A e
_ g R T
l.y = \/sm(x) +x2+1 CHpN N — i
| ; ;’,;.,-D Lhc - % Cogtﬁﬁx-ﬂ) 5
4 | E\j: 5,.(g,¢+l) |
2.y = — QUOTIENT P 3 [Hsin A - BxeasliX £
' sin(5x+1) J 7 N D
T _M\) =
3.y = 4x + 1cos(sin(2x)) Provyer j (fhe-+1) (-SN‘J wDCaJl?Q 2
+J_u\"'.) 3"“65(“, \
by = M@ 508 4 1)50 sum . iy L
y ( ) El ﬂ = e xg,/ .)\,\5 250 (K _H'S %K?

o ——— _e— e —— .
e —— 3 —

(x®+)"

2 —
S.y — (x 1) C&&”‘) | @ ‘ (XL’\S ' (7)("4.“)2_7( —(XL")LfXg



